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‘Section A (30 x 2 marks)

For each question from 1 to 30, four options are
correct answer. Make your choice (1, 2, 3 or 4).

Shade the correct oval {1, 2,3 or 4) on the Optical Answer Sheet.

1. May was told to compare the life.cycles

~the similarities between the two life
statements is correct?

(1)
(2)
(3)
(4)

They both lay eggs.
The young resemble the adult.

.of a cockroach and a guppy. She listed
ycles. "Which one of her following

The young and the adult move differently.
Their young develop into adults after the larval stage.

following sets is not correct?

The table below shows how some items were classified.- Which one of the

- Living things: -

* 'Non-living things

(1)

mould, deer, seed

_pen, rubber band, key

(2)

rose plant, water , bee

' plastic bottle, chalk, lantemn

(3)

water lily plant, yeasf,_ lice

paper box, pencil, wind

(4)

water lotus plant, orange tree, cat -

ruler, notebook, eraser

{1)
(2)
(3)

- (4)

The diagram below shows part of a fish.

To help the fish 1o reproduce
To help the fish totake in air

To help.the fish to swim in wateér
To help the fish to maintain balance

given. One of them is the




4. Joshua recorded the characteristics of a living thing T.

T

reproduces by spores " canmakefood - | | cannotmove freely by itself

Which of the following could living thing T be?

banana tree

bird’s nest fern
bracket fungus -
dragon’s scale fern

oo >

(1) Aand Conly
(2) Band D only
(3) A, BandConly
(4) B, Cand D only

5.  Whentwo objects A and B are hrought near to each other, they move in the
direction as shown by the arrows.

— >

ObjectA Object B
What can we conclude about the 2 objects from the above cobsetvation?

(1) Thetwo abjects are magnets. . . .

{2) The two objects are made of steel.

(3) Only one of the objects is a magnet. _
(4) The unlike poles of the 2 objecis are facing each other.




6.

(1),

Four types of fabric S, T, U and V of the same size were each placed over a
container as shown below. 100ml of water was then poured onto each type of
fabric without spilling. The diagrams below show the amount of water collected
in the containers after all the water had been poured. '

Fabric S Fabric T Fabric U Fabric V
water / \ /
collected

container

Based on the above observation, which fabric is most suitable for making a
towel? -

(2)
(3)
(4)

< T =~y



7. Séhdy carried out an experiment. She wanted to find out if mould needs light to
' grow. She placed 2 pieces of bread, G and H, each into a plastic bag as shown
below.

toasted
wholemeal bread

transparent plastic bag

moistened
white bread

Set-up G Set-up H
placed in a dark . placed in a bright
cupboard in a bright room
room

"Séndy's" dad told her that the expériment Waé not a fair one. To make the

experiment a fair one, she should

(1)
(2)

(3)

(4)

A use the same type of bread
B use only opaque plastic bags
C place both set-ups in the cupboard
D not moisten or'toast the pieces of bread
A and B only
C and D only
A and D only.

A, Cand Donly -



A bar-magnet has been cut info’ two pieces along the dotted line as shown
below. A and B are the two poles of the magnet.

/bar magnet

>
o

The two pieces of the bar magnet together with a U-shaped magnet are then
arranged such that they attract one ancther. Which one of the fo!lowmg
arrangements is possible if A is a north-seeking pole?

(1) @

A
A =z
B
wn
S N
(3) @
1A z / w8
B | G N
m: . |- =




8.  Louis wanted to carry out an experiment to show that living things need air to
survive.

air-tight lid food
food
—— glass
water containers
Set-up B
lid with holes
food — — "4 h M e ey
glass .
water ’& " containers | . o
Set-up C ) Set-up D

Which two set-ups should he use so that the 'expe'_riment is fair?

(1). AandB
(2) AandC
(3) BandD
(4) CandD



10.  Which one of the followin

of a kidney bean?

(1) The leaves
appear

(2) The root grows
downwards

(3) The seed
' coat splits

(4) The seed
coat splits

The seed
coat splits

The seed
coat splits

"Theleaves
appear

The'root grows

downwards

The shoot
grows upwards

The shoot

grows upwards

The shoot
grows upwards

The shoot

grows upwards

g shows the correct order of the germination process. .

The root grows
downwards

The leaves
appear

The root grows .
downwards

The leaves
appear



11.

The table below classifies aur organs according to the body. sikstéms they
belong to. Which one of the following classifications is incorrect?

System Organs
{1) : Skeletal o - ribs, skull.and brain
(2) Respiratory ' windpipe, lungs and nose
(3) Circulatory ' bood vessel, veins and heart
(4) Digestive : gullet, apus and stomach
TeChum

12. Ben did an experiment to find out which part of the bar magnet can attract the

most number of pins. He placéd a bar magnet near some pins as shown below.
He was told to sketch his observation.

——t ] pins

\ealls WLMR@Q[&

Which one of the followmg best represerits Ben's observation?

@ , A4

(3)




13. Joe conducted an experiment using two different magnets, M and N, and a pin.
X and Y mark the distance at which each magnet attracted the pin. The
diagrams below show his observations. '

R rrotyetas SR
¥

mégnet M / : X 70—;} N

B L PV PEYN.

IFER FEC RN

magnetN <Y n

T T T L N T T T

'll[l]!IIIIIIIIIIlI'liIH[[llll|IIH]IHI'II!I[HII[HII[III]IIHE|l||IIIHl[fEll[I[Il]HI!Illl][]lliillll[l[l
O <em 1 2 3 3 5 G 7 3 4] 10

What conclusion can Joe draw from his observation?

The pin is a magnetic object..

Magnetic force can act from a distance.

Magnet M has a stronger magnetic force than Magnet N.

The poles of the magnet have the greatest magnetic strength.

oo W

(1) A and B only
(2) CandDonly
(3} A,BandDonly
(4) A,B,CandD

14. Container Y has a capacity of 4000cm’. A quarter of it is filled with water. An air
pump is attached to container Y as shown in the diagram below.

I'a i } ]

water , 'air'pu-mp'

container Y

Each time the plunger is pushed in, 500cm? of air is pumped into _tbg,i;grj_tajne_t.
~What will be the volume of air present in container Y if the air pump is pumped

thrice?

(1) . 1500cm?

(2) 3000cm?

(3) 3500cm?
3

(4)  4000cm

10



| 15. Leo emptied a container of paint into a tray.

_____________________________

-
-
-
-
-
-

. - .

. . -
-
- -
-
. P

tray

container

What properties of the paint will remain the same?

A Volume
B Shape
C . Amount of matter in it
(1) Bonly
- (2). . Conly. -
~ (3) AandBonly
(4) Aand Conly

16.. The following animals have been classified according to their body coverings.

Animals
. I
I ! |
elephant guppy ‘ eagle
seal whale seaguill

spiny anteater mudskipper ostrich

Which animal has been placed in the wrong group?

Ay sl
(2) whale
(3) seagull

(4) spiny antedter

11



17. A steel rod is magneﬂied by using the stroking method as shown in the

diagram below.

steel rod

magnet

' compass

When the magnetized rod is placed near the compass, which one of the
followi_ng diagrams correctly shows the position of the compass needle?

™M

-

(2)

5 ()

7

(3)

L @

P
a——
m

%

[H\‘-
; e .

e =
m

CA

12




18. Look at the diagram of the blant shown below.

19.

Which of the following statements describe the function of part X of the plant?

(1)

(2)

(3)
(4)

Which one of the following is not a matter?

(1)
(2)
(3)
(4)

To take in water

To hold the plant upright
To store food for the plant
To take in air for the plant

oQ o>

A and B only
A and C only
B and C only
C and D only

Air
Magnet
Powder
Thunder

13




20. Belle ate a burger during recess. She plotied a bar gf'aph to showthe amount
of digestion occuring in the different organs as the food passed through the
digestive system. _

Amount of food digested
A

- ' - > organs
‘Mouth Gullet ‘Stomach Small Large
intestine intestine 7

Which part(s) of the graph, A, B, C, D or E, i§!are incorrectly drawn?

(1) Eonly

" {2) BandE only
(3) A,BandE only
(4) A, Cand D only

14.



21. Leanne wanted {o find out if temperattfr'e has an effect on the germination of
seeds.

wet cotton wool dry coiton wool

bean seed

-%

ﬂ Wasles et St
He T TERRTTTY

i o
[

Set-up C-

placed in a room

Set-up A

Set-up B

Set-up D

placed in a fridge

placed in a fridge ~ placed in a room

Which two set-ups should she compare in order to conduct a fair experiment?

A and D

(1)
(2) AandC
(3) BandD
(4 CandD
22. Which one of the following rods will be able to attract iron naiis?
(1) - battery  (2) - battery
wire wire
_ \ _n\n n\nnn\n\n\ \
_ l! wvuvvvv:_ S /
copper rod steel rod
(3) - battery (4) battery
NI ER S - o
N o N o
p'aStiC rod CObalt. rOd

15




23. Dave dropped three objects S,' T and U, one at a time, into a tank'of'Water as
shown in the diagram below.

Tank with Tank with Tank with Tank with
water only . water and water and water and
- objects object T object U

Based on his observations, he made the following conclusions.

The 3 objects can'sink in water.

Object S has the smallest volume.

The 3 objects.have the same volume. ‘
Objects S and T have a smaller mass than object U.

o0 W

Which of his conclusions are true?

(1)
(2)
{3)
(4)

A and B only
Cand Donly
A, B and D only
A, C and D only

16



24, A mixture of _matériats P and Q is poured into a machine that can separate
materials based on their magnetic properties. :

mixiure of materials
Pand Q

‘I

. 4 al hd
e
.
- -
..
-
‘e
.

.yt

machine — roller M

roller N

material P~ material Q .

Based on the diagram above, which of the following conclusions are true?

(1)
(2)
(3)
(4)

A Only roller M is-a magnet.

B Roller M is a stronger magnet.

C Material P is a magnetic material.

D Material Q is a magnetic material.

E Both rollers M and N are magnets.
Aand C only

B and D only

C and E only

D and E only

17




25. Ethan placed a plant in a beaker of purple-coloured water.

plant.

purple-coloured water f—.. i

",:-'"7'._:::‘:{\____5_

o e TAERY

After 5 hours, Ethan removed part of the stem frorh the plant. The diagram

below shows the cross-sectio

Ethan wrote down the explanation for his ob

> W
R B
RN ! S|
WS T
it ¢!
IANGER ELLi
T ™" i 'If
I TR I il
H L3y
: ; o
i 13 i il
i 1f I
i i ]
kS i
Nl

. {

However, some ink was spilled accident!

words be?

{the purple-coloured tubes are G
absorbed by ‘o-be tran

ey

The purple-coloured tubes-are

is absorbed by the (B)

. . C
to be transported to the feaves to (B}

n of the stem that was removed.

) p'urple—coloured tube- .

_(A)-

servation on a piece of paper.
y on the paper. What could the missing

sarrying tubes.

sported to the leaves

carrying tubes.

Which of the following correctly identifies '(A), (B) and (C)?

(1) food ‘stem store food
(2_) water stemn make food
{3) food roots | | st_bre food
(4) water roots ‘make food

18




26. Study the classification chart below.

Life cycle of animals

| — -
3 stages 4 stages
| .
- l |
Young looks Young does Young does not
like the adult not look like look like the
the adult adult
A . B C

Which one of the following best represents A, B and C?

(A) (B} (€
(1) human - butterfly beetle
(2) grasshopper frog mosguito
(3) chicken ‘ butterfly mosquito
(4! - human ' gf‘asshopper beetle B

19




27. Kenneth had three types of string E, F and G. He tested the strength of the |

28.

string by hanging weights on the string. He increased the weights until the
string broke. The maximum mass that each string can hold before breaking is
shown in the diagram below.

He then tried using the strings to hang different weights as shown below. Based
on the test results, which one of the following arrangements would be possible?

M - @ B @
el | AL e e
G | B | G | G
]iiiiii ._ ;[f%i;fj o Ef%ﬁéfj - Eéi@;fj

Johnny was told to record his observation of the life cycle of two animals U and
V, in the table below. A tick (1§ indicates the presence of the characteristi¢
while a cross (x) indicates the absence of the characteristic.

Characteristics _ .| _Animal U “Animal V
The adult has 3 pairs of legs, - ' x , N
It lays eggs. ‘ ' e A

it has feathers. . B A X

Which one of the following best represents animal U and V?

(1) goldfish ~ sparrow

(2). bat ., i moth -

(3 | - .penguin B housefly’
1@ 1 owl - spider

20




29. Fred wanted to choose a material for the flooring of his bathroom. He tested 4
different types of material P, Q,R and S. He put a toy car on a piece of material
P and gave it.a push. The toy car came to a stop at a distance. He recorded the
distance that the toy car moved and repeated the process for each material.

material for

. . . . o , toy car
the floor : B T &

start "~ end

The results of his experiment are shown below.

Material Distance d (cm)
P ' 8 .
.Q 5
R 10
S 12

Fred needed the ﬂoonng of hls bathroom to be non—shppery Based on the
results, which materlal should he choose (from worst choice to best chonce)’?

- worst , - - _ - best
(1) Q P S R
(2) P Q R S
(3) ) P - R Q
(4) S R P Q

21




30.

The table below records the properties of P, Q and R. A tick (V) indicates the
presence of the property while a cross (x) indicates the absence of the property.

Properties P Q R
ft has mass. v N x
It occupies space. i A X
It has definite shape. X x x
It has definite volume. N x x
it is visible. N x N

Which_one of the following best represents P, Q and-R?

P Q R
(1) " rain - wind - light
(2) air oxygen electricity
(3) baby powder carbon dioxide dust
@) coke shadow " lightning

End of Booklet A

22
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" Section B: 40 marks

For questions 31 to 44, write your answers in this booklet.

The number of marks available is shown in the brackets [ ] at the end of each
guestion or part questlon

31. The dlagram below shows two plants P and Q.

Plant P grows on iand and plant Q grows in water,

PlantP = Plant Q

(a) State a function of the roots of plant P which is not carned out by the roots of
plant Q. [1]

(b) PanRr contains air sacs which help plantQ to stay afloat on water. How does
this help plant Q to survive? . ‘ [




32. Louis made 4 bags A, B, C and D of the same size from different materials. When put
to a test, the amount of load each bag could hold before tearing is shown in the graph
below.

N
%]

~
o
]

=
Q
1

Amount of mass (kg)

Bags

(a) If Louis needed a bag to hold 17kg of foad.fbr his hiking trip, which bag(s) A, B, C,
D should Louis use? ' 1

(b) Taking into consideration the weather during the hike, name another property
that LLouis Shou!d'aISQ_consider when choosing the bag. (1




33. Norman had 2 toy cars, W and X, made of different materials. He placed car W overa
sheet of material Y and positioned a magnet below it as shown in the diagram below.

toy car W”

magnet

When he moved the magnet, he observed that car W also moved in the same

_ direction. He then repeated the process using a different sheet of material Z. Finally,
he carried out the experiment again using toy car X. The table below records
Norman's observations. )

T toycar W | toy car X
sheetY |  moved ‘moved
sheet Z stationary stationary

- Based on the re’éu'fts in the table above, classify the materials W, X, Y and.Z by writing
the letters in the classification chart below. s 2]

Materials - '

1

Magnetic [ . Non-magnetic
l ' 1 '




34.. Alvin filled a bottle with some water and placed it in a tank of water. The bottle
floated as shown below in the diagram 1.

When he fiilled the bottle with more water and placed it back into the tank of water, the
bottle sank as shown in diagram 2.

hottle

-,[\rise in
e BT e T mm e -L water
o —_  level

Diagram 1 tank of Diagram 2
' water -
. {a) Explain why the bottle sank when it was filled with more water? [11

(b) When the bottle was placed in the tank as shown in diagram 2, the water level in
the tank rose. Explain why. 1]

(c) IfAlvin wants the bottle to sink in the water as'shown in diagram 2 without the
water level in the tank rising so much, what should he do? {11




35. Kelly did a research on the different methods of mosquito control. The flowchart below
records her findings. S

Methods of
mosquifo
control

Effective in
reducing eggs,
pupae and.larvae?

Yes

Effective in
reducing adults in
the environment?

Yes

Using the list of different methods giveh-below, c'om'p-le,te ;hé above flowchart. [2]

1 » Mosquito repellent.
1 # Spray oil on water surface

,- Introduce erqa nism in water to feed_oriit___ . I

1 < Spray msectlcu:ie in the air




36. The diagrarﬁ"be!ow shows the human digeétive system.

(a) On the above diagram,

(i) Drawaline( — )to identify the orgah where the digested food is
absorbed into the bloodstream. Label the organ clearly. [1]
{ii) Draw-a line( -------- ) to identify the organ where water is_removed‘from
the undigested food. Label the organ clearly. : (1]
(b) Does the mouth help in the digestion of food? -E-xp[ain. : 2}




37.  Study the flowchart below. _

Is it a living
__thing?

Does it
have hair?

‘Does it

, Does it
__give birth?

give birth?

(a) Based on'the ﬂowchért above, identify the letter that represents each of the
following animais. _ [1]

(i)  Eagle

(i) Platypus

_(Ea) Based on the flowchart above; state the characteristics of C. {1
(¢) How is organism C different from G? ) [1]




38. Mel and Jenny poured some solution into two similar glass bottles usingl"set—ups E and
F as shown in the diagram below. -

boftles

solution

solution

Set-up E “.Setup F
used by Mel - used by Jenny

It was noticed that the bottle in set-up E filled up' slower than that in set-up F. They
repeated the process a few times and the observation was still the same.

(a) Explain why the bottle in set-ﬁp E always filled up slower. : [2]

{b) Based on your answer in'(a) above, and using the same apparatus, explain
clear[y how Mel could improve the process in set-up E so that she could fill up
the bottie faster? ' - 12]




39. Study the two leaves, T and U, below.

]
:
! .
* i 4
...... i
- 4 - -
k3
T
B
. -
,
:

Based on the pictures above, state one difference and one similarity between the two
leaves. - . [2]

- {a) Difference: -

(b)" Similarity -

10



. 40. Emil set up an experiment as shown below.

e iron nail
th 7
al
A
Battery — qd b
C/
P2
d4b
. L1
wire d =

/
\

He recorded the number of pins attracted by the electromagnet when he changed: -
the number of coils. His observations are recorded in the table bélow.

| Number of coils around iron nail Number of pins collected
IEI ) T )
16 S 8
24 12
32 : . 16
(a) Identify the variable changed in this experiment. 1]
(b) Whatwas the aim of Emil's experiment? . 1]

11




(c) Based on the data. collected, complete the bar graph below by using the shaded
portion to start your bars. S

[2]
20
o
Q
©
o
T
o 10
e
B
bS]
by
O
=
=}
=
Number of
0 8 16 24 32 coils around
iron nail

42

aad



41.

Study the classification chart below.

(b)

Living Things
[
! ! .
(A IR -PI‘.ants‘
|
Do not have 3 pairs of legs Have 3 pairs of legs
[
{ Mammals Birds | - . (B)
© (D)
: . | —
ll Elephant . Emu Crow
| _ Monkey Kiwvi .Parrot _
N _—
(a) Complete the classification chart above by filling in the boxes A, B, C and D with

suitable headings.

(2]

Compilete the chart above by adding in the group of organisms called “Fish".

{Note: You will need to draw a box and lines to join-this group to the rest) M3

13




42. -Tina had 4 springs P, Q, R-and S made from the same material. She attached the
springs onto a pole as shown below. She then hung a weight of 90g at the end of each
spring and the extension was recorded. She then repeated the experiment by
hanging weights of different masses on the springs and recorded the extensions.

P Q | R S
é \90'9
g\”:?) T
TS -
TS =
< _
=
~..(a).- If springs Rand-S afe'com'pared,' what is the aim of the exbeﬁméht? M

(b} Ifsprings P, Q and R are compared, what is the aim of the experiment?  [1]

14



43. The ﬂowchan‘r't below sho_ws how-S different'obj'ects A, B, C, D and E are classified.

(a) |

(b}

()

Start

NP No Isit
? N .
Is'it flexible? : - transparent? A
Is it No - Break easily
waterproof? - when dropped B
_ l Yes
D ) C

Based on the flowchart above, which of the letters best represent the following
items. [1]

(i)  School uniform : -

(ii) Mirror

Based on the flowchart above, which object(s) is/fare made of a material that is
most suitable for making the shower cap? Explain why.

(2]

window frame

window pane Bl l g
Ly "¥

*‘Based on the flowcharn above, what does a Window pane and object B have in

common? 11

15




44. Betly studied the !ifé cycle of insect W. She recorded the number of days for each
stage of its life cycle in a bar graph as shown below.

0 2 4 6 8 10 12 14 16
Number of days

(a) Based on the bar graph above, how many days does the insect take to become
an adult after it has hatched from the egg? 1]

16



The pupa
develops into an .

adultandflies "] Insect W

out of water. /‘

Pupa

The larva moults several
times before developing
into a pupa. It stays near
the water surface. It
neither feeds nor moves.
During the pupal stage, it
develops wings and other
features of its adult. .

Adult

(b) The diagram below shows the life cycle of an unknown insect X.

Adult lays eggs in
cluster on the water

\surface.

Egg

The larva moves in water. |t
breathes through a breathing
tube that is positioned at the
water surface and it feeds on
tiny . organisms found in the
water.

Using the information given above, put a tick \/j in the correct column for each of

the statements given below.

(2]

Statements

Not Possible

“True False | to Tell

() [ The adult1ays only one egg.

(i) | The larva moults several times before
developing into a pupa.

life cycle in water.

| (i) The adult spends most stages of its

(iv) | The farva consumes more food than

| the adult.

End of P-ap'é'r
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Section B

Q31 -

a) The roots of plant P holds the plant firmly

b) Plant Q would be able to receive sunlight to make its own food

Q32
a)Bags A, Cand D
b) Waterproof -

Q33

Material -

Magnetm* R R -~~Non-magnet|c_ SR

W, Y, Z Y

Page 1 of 5



Q34

a) When water is added to the bottle, the mass of the bottle and the content
increased, thus the bottle sank

b) The bottle occupies more space in the tank of water when it fu!ly submerged in
the tank, thus causing the water level to- nse :

¢) He should open the bottle s cap

Q35

Methods of mosquito
control

Effective in SR
reducing eggq, Introduce organism’
pupae and | in water to feed o it |

reducing
adults inthe

| Spray insecticide in
the air”

Mosquito repellent

Page 2 of §




Smal{ intstine.
~Largp.
T'_'fe“z%.‘ne_

- b} Yes. The teéth cut-and chew the food into smaller pleces Saliva will break down -
some of the food into 5|mpler substances

Q37
a)i)H
i)yD
b) Cisa I|V|ng thing that has hair-and gives birth .
c) C has hair and gives birth but G does not have hair and does not give birth

Q38 ‘

a) Air in-set-up E cannot easily as the opening is being blocked but air in set-up F
can escape easily as the opening is unblocked

b) Lift the funnel-up so that air trapped in the bottle can escape and the solution
can enter to take the air's space .

Q39
a) Difference: Leaf T has a Iobed—edge but leaf U is smooth edged
-p)-Similarity:-Both-have network-veins-

Q40
a) The number of .coils around the iron nail
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- b) To find out if the number of coils around the iron nail will affect the magnetic
force of the electromagnet

c)
20
B T
.,“g" _ > %i%
I 5 4 Ay T
WE T
e 8 i ‘ i‘i ' ﬁi Si;;lr::?w;grfxd
iron nail .
41 Living things
I
| _ |
(@) Animals. | - |.Plants
T |
Do not have 3 pairs Have 3 pairs of legs
-of legs _
1 I E— 1 L
| Fish Mammals Birds Insects
. T [ |
| ] |
| (c) Cannot Fly (d) Can Fly .
Goldfish Elephant Emu | Crow
Guppy Monkey Kiwi Parrot
Swordtail ' ,
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Q42
a) To find out how the length of springs affects the extension
b) To find out how the thickness of springs affect the extension

Q43
a)DE
i) A : _
b) Object O. The shower cap must be flexible and waterproof which is only fulfilled
by object O
¢) Both window panes and object B are not flexible and are transparent

Q44 -
a) 18 days
b) i) False
- 1) True
i) True
iv) Not possible to teli

1y
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